

**Management Accounting**  
**Professor Anil. K. Sharma**  
**Department of Management Studies**  
**Indian Institute of Technology, Roorkee**  
**Lec 38**  
**Labour Variances- 2**

Welcome students, so we are calculating the labour variances and in the previous class we discussed some formulas for calculation of the labour variances and we tried to solve one problem which was a very simple problem. Very straight and simple problem and in that problem with regard to labour variances we calculated two variances, that is the labour cost variance and the labour rate of the pay variance which is say similar in case of the material variances.

In the material also, we calculate the material cost variance. And in case of the material we do not call it material rate of pay variance, but the material price variance. After this, these two variances in the labour, labour cost variance and labour rate of pay variance. Now, we will go for the third variance that is the labour efficiency variance. We will calculate the learn about the calculation of the labour efficiency variance.

(Refer Slide Time: 1:35)

STANDARD COSTING  
LABOUR VARIANCES  
PROBLEM SHEET

**PROB. 1**  
 In a manufacturing concern, the standard wage fund for a month is ₹8000. A standard wage rate of ₹20 per hour has been fixed. During the month 10 workers were employed and average working days in a month are 23. A worker works for 7 hours in a day. Actual expenditure on the wages for the month amount to ₹23,375. There was a shortage of work due to process delays (idle time) for 100 hours. Calculate various labour variances.

**PROB. 2**  
 The information regarding the composition and the weekly wage rates of labour force engaged in a job is tabulated in the accompanying table as follows:

Category of Workers	Standard		Actual	
	No. of workers	Weekly wage rate per worker (Rs)	No. of workers	Weekly wage rate per worker (Rs)
Skilled	75	60	70	70
Semi-skilled	45	40	50	50
Unskilled	60	30	60	30

The work was completed in 22 weeks. Calculate various labour variances.

**PROB. 3**  
 The following data is taken out from the books of a manufacturing concern:  
 Budgeted labour composition for producing 100 articles  
 20 Men @ Rs. 2.25 per hour for 25 hours  
 30 women @ 1.50 per hour for 30 hours  
 Actual labour composition for producing 100 articles  
 25 Men @ Rs 2.50 per hour for 24 hours



And, in case of labour efficiency variance, one point which has to be born in mind here is that see we have been given some information about the, say, idle time. So it means 100 hours out of

the total hours. But, the total number of hours we have worked out is the 8750. That is we have worked out total number of hours here that is the 8750. And out of these 8750 hours, we have wasted some 100 hours, so it means, now we have two ways to calculate the variances.

First way is that you do not means count for the wastage of the time, abnormal wastage of the time. And you simple make a comparison between the, say the standard time and the actual time and calculate the labour efficiency variance. But actually you see that if you do not take into consideration this time wasted of 100 hour which is because of the abnormal reasons; it is not because of the normal reasons, it is because of the abnormal reasons.

So, if you do not take this into account the efficiency of labour will come in the question that they worked for 8750 hours, but the output is not according to that period of time. So, it means the labour is inefficient. But when there is no power in the plant, what the reason given to us here is, the reason given to us here is that is the there is a stoppage of the work due to the power failure that is the idle time of 100 hours because of the failure of the power in the plant. So, if there is a power failure, so how one can help it out?

So, better it is, while calculating the third variance that is the labour efficiency variance, we should subtract this time from the actual time we are going to take into account here. So, what is the formula for calculating the labour efficiency variance? That is the standard rate multiply standard time standard time minus actual time, standard time minus actual time. So, now what is the standard rate here, if we talk about the standard rate given here?

We have got the two rates, per hour rates are available with us, we calculated in the previous class. Standard rate is given to us that is 2 rupees and 25 paisa and actual rate we worked out was per hour rate we worked out was 2 rupees and 50 paisa, right. So, standard rate is 2 rupees 25 paisa, so we will take here it as that is rupees 2.25 multiply standard time is, what is the standard time? Standard time here given to us was, it is given in the problem itself and the standard time is 8000 hours. So, we will put here as the 8000 hours and when you talk about the actual time.

Actual time here we have worked out is 8,750 hours but out of that 100 hours have been wasted so you subtract that and you take it as, you call it as 8,650. If you calculate variance this way, this will work out as something like say rupees 2.25 into this amount will be how much? 650,

right? So, if you work out this variance, this works out as rupees 1462. If you multiply this, the means the 2.25 with the 650, this will work out as 1462.5 and this will come up as adverse.

This variance is adverse because your actual time is more by 650 hours as against the standard time of the 8000 hours so it means that 650 hours of extra time the labour have used that is not because of any abnormal reasons but because of normal reasons. So your labour efficiency variance comes up as negative variance, adverse variance that by the amount of 1462.50. So, now we will have to calculate because now we have subtracted this actual time means from the actual time we have subtracted the idle time of the 100 hours.

(Refer Slide Time: 5:42)

$$\begin{aligned} \text{St. Time} &= 8000 \text{ hrs} \\ \text{St. Wage rate} &= \text{Rs } 2.25 / \text{hr} \\ \text{Actual time} &= 50 \times 25 \times 7 = 8250 \text{ hrs} \\ \text{Actual wage rate} &= \frac{21875}{8250} = \text{Rs } 2.50 / \text{hr} \\ \text{LCV} &= 8000 \times 2.25 - 8250 \times 2.50 \\ &= \text{Rs } 1875 \text{ (A)} \\ \text{L.R.V} &= 8250 (\text{Rs } 2.25 - \text{Rs } 2.50) = \text{Rs } 2187.50 \text{ (Ad)} \\ \text{L.I.T.V} &= \text{St. rate} (\text{St. time} - \text{Actual time}) \\ &= \text{Rs } 2.25 (8000 - 650) \\ &= \text{Rs } 2.25 (7350) \\ &= \text{Rs } 16537.50 \text{ (A)} \end{aligned}$$

So, what we have to do here is now we will have to calculate the third variance, and the third variance is, if you talk about the third variance the third variance comes up as LITV (Labour Idle Time Variance) because that should be calculated separately just to find out that how much was the abnormal ideal time which is not because of the shortage or because of the any sort of the inefficiency of the labour.

And for that we have to find out is, the purpose of formula is, formula was ideal time 100 hours multiply the this rate is standard rate that is 2.25, so how much it works out as 225 and this variance is always adverse ideal time variance is always negative variance is always adverse variance because labour has been unproductive because of abnormal reasons here in this time, so

we will call it, whenever you calculate this variance this will be considered as a negative variance of the say adverse variance and now we have got all the three variances.

Means one is the labour cost variance and labour cost is a function of the labour rate and the labour efficiency and the labour idle time so by factoring these 3 components that is the labour rate, labour efficiency and the labour idle time we will have to find out that whether both the sides are equal or not. So, how can we apply the check here you can say that it is the labour cost variance has to be equal to what that is the labour rate of pay variance plus labour efficiency variance and now we have calculated the third variance also so that has to be the labour LITV (Labour Ideal Time Variance).

So, what is the labour cost variance here if you see the labour cost variance was what minus 3875, and what is the labour rate of pay variance we have already calculated this is minus 2187.5, right? Now it is again negative so it will be minus 1462.5 and minus, another one is 225. If you sum up these three so this will become as minus 3875 is equal to minus 3875. So you can know within the exam, for example, if you are talking from the academic point of view within the exam you can come to know that whatever the solution you have found out, you have done the problem you have solved it is correct because both the sides are equal.

Cost is a function of price and the efficiency, so we have seen here that if you take into consideration the price, efficiency and the idle time, if you try to convert that into the total cost, so labour cost variance was 3875 negative and we have found out that this labour cost negative variance has been because of 3 important factors, because of the three important factors, because cost is a function of price and time, right. In the material, the cost is the function of the price and the quantity, right! Here, the quantity is the time not the units of the quantity.

We, have again labour rate, labour efficiency and labour idle time, right? Sum of these three makes the labour cost because the firm has paid for at the rate of the labour rate. Firm has paid per hour rate and the total time that is 8750 hours and out of that 100 hours are the idle time hours. So, the total payment has been made for those 100 hours also. So, finally while calculating the labour efficiency variance.

For example, if you have not subtracted 100 hours then this, this labour efficiency variance would have been more negative. Means negative by the higher amount, higher figures. So, what

it would mean, it would mean is that labour is more inefficient as compared to what we have found out here, this amount has come is 1462.5 and you would have added to this 225 into this. So, this variance would have gone up very high and this reflection would have been on the efficiency of the labour so which we segregated.

So this negative adverse labour efficiency variance has gone down by the same amount and now we have found out that labour cost variance being negative has been the function of all the three things. We wasted 100 hours that is why our cost increased; the actual cost was more than the standard cost. Second thing, our standard rate was 225 per hour, right? That is 2.25 rupees per hour and our actual rate paid was again more by 25 paise that is 2.50 hours, so you paid the higher rate.

What was the standard rate and what was actual rate paid, there was a difference in that case and when you talk about the say the efficiency part, labour efficiency variance. How many hours were anticipated, 8000 hours and how much actually hours we have means used the labour for – for which the labour was working, engaged, productive, that was 86 this 50, right? So, it means we have paid normally more by 650 hours. We have paid more by 100 hours of the abnormal time.

So, actual extra time we have paid for is which is more than the budgeted time or the standard time is 750 hours, so, it means because of all these 3 factors, labour rate, labour efficiency, and labour idle time, the overall cost has gone up and that is why your labour cost variance has become negative by amount of 3875. Now, we have found out the reasons for this. Now we have to analyse it. We have to find out the, means go little more in detail that why labour price we had to pay more.

Why the labour price actually price was more than the standard time, were we not able to visualize in the beginning that the actual labour rate will be higher than the standard. Second thing is, when we estimated that within 8000 hours, the targeted amount of the production can be had but actually when we went for the production, we paid, or we spent more 750 hours. So, why, we were not able to find out in the beginning that the time actually will require, not 8750 but at least 8650, so why there was a gap between the standard and the actual time.

And that gap is not small gap, gap is by 650 hours because had the power been there in the plant all the times, in that case the total gap would have been 8650, so 8000 minus 8650, that is more by 650 hours but still it is a big gap. So, it means there is some problem at some level. Either the standard setting committee is not aware about the labour rates in the market or how fastly the labour rates are changing or there could be a problem that they are not able to find out or to calculate that for performing a certain amount of the work, how much time is actually is expected to be taken by the labour.

So, these are the factors to be found out to be plugged. So that next time your standard performance is equal to the actual performance or vice versa, your actual performance is equal to the standard performance. There is no idle time, or the wastage of any time and every time we are able to use the labour for the maximum possible time and most of the time of the labour is the productive time not the unproductive time, right? So, this way we have to analyse these labour variances and we have to try to find out if in any case the variance are negative.

Why these negative variances are coming up and how we can control these variances so that ultimate purpose of controlling the total cost of production, because in the total cost of production of any product, I told you many times that 50 to 60 percent cost is because of material and then the 15 to 20, 25 percent of the cost is because of labour and these are the two very important components in the total cost.

So, if you want to control the cost of the production, you first focus on the material then after this, once you are fully means exploited all the possible avenues for controlling the material cost, then you focus upon the next larger component of the cost, that is the labour component and labour cost should also be within control and after that we should go for the third component that is the other overheads, right? That is the, means the third component of the cost that is the other overheads.

So, these 3 important things are there to be taken into consideration. Material variance, we have already known and labour variances are now we are doing and now after this we will be learning, not in detail, but in a summarized form of overhead variances, right? So, this problem, first problem was very simple problem, and in this simple problem we could find out that if you are given the standard information in terms of time that is the labour rate and the labour time and if

you are given the actual information with regard to the labour time and the labour rate then how to calculate the variances?

But here, the limitation of this problem was that we were not given about the details of the different type of workers and actually in the firms, in the plants, what happens, we use the three categories of the workers. I told you in the previous class also, we use skilled workers, we use semi-skilled workers, and we use unskilled workers. And the rate of payment to these three categories of the workers, blue collar employees are different.

So, we have to change sometime this composition, means depending upon the availability or the non-availability of the labour. When you change the composition, cost changes; when you change the composition, the total output changes and it makes a big difference, sea difference, larger difference. So, now the next problem which I will be discussing with you with regard to labour variances, I will give you three problems, here a problem sheet and in that problem sheet you will find 3 problems.

One we already did, second I will do. Again, we will calculate only 3 variances – labour cost, labour rate of pay, labour efficiency variance. But the labour is divided into 3 broad components that is skilled labour, semi-skilled labour and unskilled labour, right? After knowing about calculating the different labour variances for the different categories of the workers, then we will move to the third problem.

In that we will address the problem of idle time, we will address the problem of the different workers means as per their skills and then we will address the problem of finding out all the 5 or 6 variances that is the labour cost variance, labour rate of pay variance, labour efficiency variance, labour idle time variance, labour mix variance or the gang composition variance and the labour yield variance. So, that will be the third problem. So, let us now understand that if you are given the different type of the workers – skilled, semi-skilled and unskilled, how to calculate the variances, right?

(Refer Slide Time: 16:44)

STANDARD COSTING  
LABOUR VARIANCES  
PROBLEM SHEET

**PROB.1**  
In a manufacturing concern, the standard time fixed for a month is 400 hours. A standard wage rate of Rs. 1.25 per hour has been fixed. During one month, 30 workers were employed and average working days in a month are 23. A worker works for 7 hours a day. Total wages paid to the factory for the month amount to Rs. 24,000. There was a surplus of work due to process labour cost time for 100 hours. Calculate various labour variances.

**PROB.2**  
The information regarding the composition and the weekly wage rates of labour force engaged in a job scheduled to be completed in 30 weeks are as follows:

Category of Workers	Standard		Actual	
	No. of workers	weekly wage rate per worker Rs.	No. of workers	weekly wage rate per worker Rs.
Skilled	75	60	70	70
Semi-skilled	45	40	30	50
Unskilled	60	30	80	20

The work was completed in 32 weeks. Calculate various labour variances.

**PROB.3**  
The following data is taken out from the books of a manufacturing concern:  
Budgeted labour consumption in producing 100 articles:  
30 hours @ Rs. 1.20 per hour for 15 hours  
30 minutes @ 1.10 per hour for 30 hours  
Actual labour consumption for producing 100 articles:  
25 hours @ Rs. 1.20 per hour for 25 hours



So, now if you look at this problem number 2, we are given this information here and this information is something like the information regarding the composition and the weekly wage rates of the labour force engaged on a job scheduled to be completed in 30 weeks are as follows, in the 30 weeks are as follows: You are given the category of workers – skilled, semi-skilled and unskilled.

You are given the number of workers put on the job means that is the standard that was expected to be put on the job that is the 75, 45 and 60 and we are given the standard rate also, weekly wage rate, it is not per hour, it is not per day, it is a weekly wage rate that how much wage rate we have to pay per week per worker this is 60, 40 and 30. Then we are given the similar actual information – how many numbers of workers are put on the job – 70 skilled, 30 semi-skilled and 80 unskilled and the price we pay to them was 70, 50 and 20 right?

The work was completed in 32 weeks, the work was completed in 32 weeks and now on the basis of this information, we have to calculate the labour variances so you are given the 3 set of the workers – skilled, semi-skilled and unskilled. We are given the standard time – 30 weeks of all the 3 categories of workers they have put together and we are given the actual time also 32 weeks and now, we are given the standard and actual information, so on the basis of this we will have to calculate the labour variances.



In this case, now we will calculating some variances and largely if you want to be comfortable you can calculate only 3 variances comfortably, that is the labour cost variance, labour rate of pay variance and the labour efficiency variance and labour mix and the other variances we will touch in the third problem, right? Now, we will do this problem we will discuss this problem and for this problem we will have to now prepare this information but we will have to solve this. So first variance we will be calculating is the labour cost variance.

(Refer Slide Time: 18:44)

STANDARD COSTING  
LABOUR VARIANCES  
PROBLEM SHEET

**PROBLEM 1**

In a manufacturing concern, the standard time fixed for a month is 4000 hours. A standard wage rate of Rs. 7.25 per hour has been fixed. During one month, 30 workers were employed and average working time in a month was 23.8 weeks each. The total actual wage bill of the factory for the month amounted to Rs. 21,875. There was a surplus of work due to excess labour which was 100 hours. Calculate various labour variances.

**PROBLEM 2**

The information regarding the composition and the weekly wage rates of labour force engaged in a job scheduled to be completed in 20 weeks are as follows:

Category of Workers	Standard		Actual	
	No. of workers	weekly wage rate per worker Rs.	No. of workers	Weekly wage rate per worker Rs.
Skilled	75	60	70	70
Semi-skilled	45	40	50	50
Unskilled	80	30	80	30

The work was completed in 22 weeks. Calculate various labour variances.

**PROBLEM 3**

The following data is taken out from the books of a manufacturing concern:  
Budgeted labour composition for producing 100 articles:  
30 Men @ Rs. 1.20 per hour for 25 hours  
20 women @ 0.80 per hour for 30 hours  
Actual labour composition for producing 100 articles:  
25 Men @ Rs. 1.20 per hour for 24 hours



$$dCV = \text{St. cost of job} - \text{Actual cost of job.}$$

St. cost of job


Skilled:  $75 \times 60 \times 20 = \underline{90,000}$   
 S.S. :  $45 \times 40 \times 20 = \underline{36,000}$   
 U.S. :  $80 \times 30 \times 20 = \underline{48,000}$   
 Total st cost = Rs. 1,74,000

Actual cost of job

Skilled:  $70 \times 70 \times 22 = \underline{1,07,800}$   
 S.S. :  $50 \times 50 \times 22 = \underline{55,000}$   
 U.S. :  $80 \times 30 \times 22 = \underline{52,800}$   
2,15,600

$$dCV = 1,74,000 - 2,15,600$$

$$= \underline{\underline{Rs. 41,600 (A.)}}$$



Now, for calculating the labour cost variance what is the formula: standard cost of labour minus actual cost of actual cost of labour, right? This is the formula. Standard cost of labour minus the actual cost of the labour. So, now we have to calculate first of all this standard cost, we have to calculate the standard cost of labour standard cost of labour and for calculating the standard cost of the labour, right? We have to means find it out, so we are going to find it out for the 3 categories of the workers: first category of workers are skilled, right?

For the skilled workers if you find out go back and how many hours are there 30 weeks, not hours 30 weeks are given. How many skilled workers are put on the job means that was the standard 75 and what is the rate we are paying is that is 60 rupees per week, right? So now we will have to convert that into the standard cost for the skilled labour and that will be how much that is 75 multiply 60 multiply 30, this works out into how much this will be a total amount standard cost will be something like rupees 135000.

135000 and this cost we have calculated, this cost we have worked out that is the 135000, so this is the product of this amount given to us so this is 135000 this works out as that is the 75 multiply 60 multiply 30. This is the cost of the skilled labour, we have paid or we are expected to pay, we are supposed to pay because this is the standard. Now we go for the semi-skilled SS semi-skilled cost is standard cost for the semi-skilled labour is how much?

We are given here weeks will remain 30, workers are 45 and the rate is 40, right? So how much it is going to be, is going to be something like say this 45 then is the rate is how much 40 and weeks are again going to be 30. So, how much this cost is going to be this cost is going to be 54000. This is the cost of the semi-skilled labour and then is the unskilled labour. The cost of unskilled labour is going to be how much 60 into 30 into the weeks are again how much 30 yes so this cost works out as 54000s, right?

This cost works out as 54000, So you can say total standard cost is going to be how much this cost is going to be rupees 243,000 is going to be the standard cost. This is the standard cost 243000 is going to be the standard cost or the cost of the standards decided depending upon the different type of workers, we have put on the job or we were expected to put on the job 75

skilled, 45 semi-skilled and 60 unskilled workers their rates were 60, 40 and 30, and standard time decided was 30 weeks, right?

Similarly, now we have to calculate the second component and the second component is the actual cost of the labour. Actual cost of labour again we have to calculate like skilled, first of all skilled then we have to calculate the semi-skilled and then we have to calculate the unskilled, right? So we will have to calculate now same way, now you look at how much actual time we have spent against the standard of 30 weeks time?

We have actually put the labour or we have used the labour to complete the given job for 32 weeks. We have used the labour to put the labour on the job for 32 weeks. So this is the first difference against the standard of 30 actual time is 32 weeks. So we have spent or we have used the labour for 2 more weeks so you can expect labour cost variance will be certainly you can call it as negative or adverse because first indicator shows our actual time is more than the standard time.

And if you look at the workers here against the standard of 75 we have used 70 skilled workers, against the standard of 45 semi-skilled workers we have used 30 semi-skilled workers and against the say 60 unskilled workers standard. We have used more unskilled workers that is 80. So, it can change because we thought we will be having 75 skilled 45 semi-skilled and 60 unskilled but actually depending upon the labour in the market we could get 5 workers less as far as the skilled workers are concerned.

We could get 15 semi-skilled less workers and to compensate for that we had to increase the number of the unskilled from the 60 to 80. So, now looking at this we have to calculate the actual labour cost and if you look at the rate also against the standard rate per week for the skilled labour; we have paid 70 rupees means 10 rupees extra per week for the skilled labour. Semi-skilled we have again paid the higher rate and for the unskilled we have paid the lesser rate by 10 rupees.

So adjusting all these factors now we will be calculating what! That is the actual cost of the labour and for calculating the actual cost of the labour, skilled one is how much 70 multiply 70 multiply 32 so this will come out as how much 156800, right? In the second case it would be how much 30 multiply 50 multiply 32 last one will be the same this will come out as 48200. And

third one is how much 80 multiply 20 multiply 32 and this will come up as 51200 so the actual cost of the labour is how much 256,000.

We are got now the standard cost of labour and the actual cost of the labour and for this you will have to now easily find out both the costs are available with us, so what is LCV. Labour Cost Variance is how much this is the 200 rupees, 243 is the standard cost, how much is the actual rupees 256,000. This is the actual cost so standard is 243, actual is 256 so finally if you calculate the labour cost variance this works out as how much 13000 rupees, 13000 adverse, rupees 13000 adverse.

It means in nutshell you can say the labour cost we have actually paid is more by a sum of 13000 rupees. In such a small amount of the work where it was expected to be completed in 30 weeks, we completed in 32 weeks. We decide some composition of the skilled, semi-skilled and unskilled workers but actually we involved different number of the workers in all 3 categories. And when you talk about the rate also, in the two categories we paid actually we paid higher rate as against the standard.

Only in the third category we could save some money where we paid actually the lesser rate of as against the standard. But as a net result because of increasing the number of weeks, because of changing the labour composition and because of paying the high rate in the first two categories of the workers your total labour cost variance has become negative. Or your labour cost has increased by a whopping sum of 13000 rupees. It is not a small amount, it is a big amount 13000 rupees is a big amount.

It is a big cost and we will have to be careful. We will have to find out why the labour was not available as we anticipated, we standardised, we targeted then why the skilled number of the workers was not available in the required amount why 5 people were less available? We did not contact those people on time or we could not find out how much are actually available? How much are required so that is a one reason, where we wasted two more weeks, 30 was standard.

Why we spent two more weeks that is 32 weeks? That is another cause of concern and when while paying the rates per week to the skilled and semi-skilled, we anticipated something less, we paid more. So, in that case if you talk about we have paid the rate also higher in the first two categories. So, these are the three important indicators which ask us, which force us, which

require us to go for a detailed analysis and reset the standards so that next time there is either no gap between the standard cost and actual cost or if it is a gap it is a minimum, negligible gap. It is an insignificant gap because otherwise standard costing will lose its importance.

(Refer Slide Time: 28:18)

$$\begin{aligned}
 \text{dLOV} &= \text{Actual Time} (\text{Standard Rate} - \text{Actual Rate}) \\
 \text{Efficiency} &= 2240 (60 - 70) = ₹ 22,400 (\text{Adv.}) \\
 \text{S.S.} &= 960 (40 - 50) = 9,600 (\text{Adv.}) \\
 \text{UMS} &= 2560 (30 - 20) = 25,600 (\text{F}) \\
 \text{dLOV} &= ₹ 64,000 (\text{Adv.})
 \end{aligned}$$

Now, after calculating the labour cost variance we will go for the next thing and we will calculate now the labour rate of the pay variance. Labour rate of the pay variance, in case of the labour rate of pay variance what is the formula? Here we will talk about as the actual time so now the time will come out and what is inside? This labour rate of pay variance because in the material what we take outside the bracket actual quantity. Here, we are talking about the time so it is the actual time, actual time multiply the standard rate minus actual rate, standard rate minus actual rate.

So, we have now to calculate this, I told you earlier also for memorising these formulas, you have to put inside the bracket that which you have to find, rate you want to find out the variance between the labour rate you want to find out so put the rate inside the bracket and multiply it by the time. When you want to find out the efficiency time will go inside the bracket and the rate will come out that rate will be the, say standard rate. So, standard rate will be outside and the standard time and the actual time will be inside.

So, if you want to find out labour rate of pay variance you have to start with this actual time into standard rate minus the actual rate and that way you will be able to calculate the labour rate of the pay variances. So, if you can calculate the labour rate of the pay variance we calculate it for the skilled and if you calculate for the skilled what is the time, what we have to take for the time is we have to calculate the time only.

For calculating the time you have to take into consideration here it is actual time is how many hours are given to us here, we are given the hours are like 32 weeks is the time and here it is the 70 is the number of workers so 70 multiply 32, this will come out as something like this, this time will be 2240 hours, right! Or weeks! This is the total time in weeks and what is the standard rate, standard rate is 60 and what is actual rate paid is 70. So, what is this variance?

This variance is going to be rupees 22000. If you solve this, this will work out as 22400 and this variance is adverse, right? Similarly, you will calculate it for the semi-skilled. So, if you calculate it for semi-skilled, what is the time coming out to be 960 multiply 40 minus 50. This will come out as how much? This will come out as 9600 and again it is adverse. Right, if you calculate now for the unskilled.

If you calculate for the unskilled so this will come out as how much? This will be something like 2560 multiply 30 minus 20. So, it is the, how much it comes out as, this comes out as 25600. So, the total variance we have calculated. They all are, this is favourable. This is favourable so we have calculated these say labour rate of pay variances and in this case this has come out as 22400 as adverse, in the semi-skilled this has come up as, if you take semi-skilled, this is the variance, semi-skilled is 9600 adverse because actual is more than the standard rate.

And in case of the unskilled, the actual rate paid is less by 10 rupees as against the standard and number of weeks is also quite large, so this variance has become favourable. So, finally you have sum it up for calculating the LRPB and LRPB is going to be how much in this case? LRPB is going to be, in this case if you calculate the total sum of these 3 will work as how much. It will finally be 6400 adverse, 6400 adverse because 2400 plus 9600, this will be the total adverse minus favourable 25600.

So, the net result is the adverse. So, one reason we have to found out, we have found out is why the labour cost variance is negative because your rate is higher. We have paid the higher rate for

skilled and semi-skilled and the net variance for this labour rate is 6400 adverse or negative. Other variance is labour efficiency variance and there then the telling with the labour cost, labour efficiency and the labour rate of pay I will discuss in the next class. Thank you very much!